CHEM 111 – Vining	Solution Stoichiometry In-Class Problems
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How many grams of Ag,COj3 will precipitate when excess Na,COj solution is
added to 76.0 mL of 0.728 M AgNO; solution?

2AgNO;3(aq) + NayCO3(aq) —Ag,CO3(s) + 2NaNO3(aq)
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‘An aqueous solution of perchloric acid is standardized by titration with a 0.102
M solution of barium hydroxide.

If 21.2 mL of base are required to neutralize 15.9 mL of the acid. what is the
molarity of the perchloric acid solution?
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Oxalic acid dihydrate is a solid. diprotic acid that can be used in the laboratory
as a primary standard. Its formula is H,C,0,4*2H,0.

A student dissolves 0.747 grams of H,C,0,°2H,0 in water and titrates the
resulting solution with a solution of potassium hydroxide of unknown
concentration. If 28.4 mL of the potassium hydroxide solution are required to
neutralize the acid. what is the molarity of the potassium hydroxide solution?
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A 1.311x10°-g sample of an unknown monoprotic acid is dissolved in water and titrated with
standardized barium hydroxide. The equivalence point in the titration is reached after the addition of

2.848x10! mL of 1.817x10"1 M barium hydroxide to the sample of the unknown acid. Calculate the
molar mass of the acid.




